
Noctura Series
LED Flood Light

Large Flood Light

1 of 5 LPN00630X0002A0_B

INSTALLATION INSTRUCTIONS
INSTRUCTIONS D’INSTALLATION

TO INSTALL:

IMPORTANT SAFEGUARDS
When using electrical equipment, basic safety precautions should always be followed including the following:

READ AND FOLLOW ALL SAFETY INSTRUCTIONS
1.	 DANGER- Risk of shock- Disconnect power before installation.

DANGER – Risque de choc – Couper l’alimentation avant l’installation.
2.	 This luminaire must be installed in accordance with the NEC or your local electrical code. If you are not familiar with these codes 

and requirements, consult a qualified electrician. 
Ce produit doit être installé conformément à NEC ou votre code électrique local. Si vous n’êtes pas familier avec ces codes et ces 
exigences, veuillez contacter un électricien qualifié. 

3.	 Suitable for wet locations.
Convient aux emplacements mouilles

4.	 Suitable for operation in ambient not exceeding 40°C.  
Peut etre utilise a une temperature ambiante n’excedant pas 40°C.

5.	 Suitable for mounting within 1.2M (4ft) of the ground.  
Peut etre installe a moins de 1,2 m (4 pi) du sol.

6.	 Min. 75°C supply conductors.  
Les fils d’alimentation 75°c min.

7.	 Class 1 wiring only.  
Cablage de classe 1 uniquement.

SAVE THESE INSTRUCTIONS FOR FUTURE REFERENCE

1

TRUNNION MOUNT- REQUIRES USE OF NTX-TR ACCESSORY

STEP 1:
Plug the female end of the quick connect, 
supplied with the trunnion, into the male 
connector on the luminaire. Make sure the two 
halves lock together. See Figure 1.

STEP 2:
Align the four holes in the inner trunnion with 
the four tapped holes in the luminaire housing. 
Attach the trunnion to the luminaire using 
the (4) 5/16" (8 mm) bolts and lockwashers 
supplied with the trunnion kit. Tighten bolts to 
132 in-lbs (15 N·m). See Figure 2.

STEP 3:
Mount the luminaire in the desired location 

using (2) 3/8" (10 mm) bolts (customer 
supplied) appropriate for the mounting surface. 
See Figure 3.

STEP 4:
Make wiring connections to the cord leads per 
the Electrical Connections section.

STEP 5:
Remove #10-24 positioning screws on both 
sides of the trunnion.

STEP 6:
Loosen 5/16" (8 mm) hex head bolts located on 
both sides of the trunnion.

STEP 7:

Rotate trunnion to desired tilt angle. Line up 
inner and outer trunnion positioning holes.

STEP 8:
Insert one #10-24 screw, removed in Step 
5, into matching holes of inner and outer 
trunnions. Tighten screw to 30 in-lbs (35 N·m). 
Repeat with screw on opposite side of trunnion.

STEP 9:
Tighten both 5/16" hex head bolts on opposite 
sides of the trunnion to 132 in-lbs (15 N·m).

       
       
       
       
       
       
       

2 3

Female End of 
Connector

Male End of 
Connector

Inner 
Trunnion

#10-24 Screws 
to Adjust the 
Orientation

For Wall 
Mounting,
Keep the 
Keyholes Facing 
Upwards During 
Installation

Outer Trunnion. 
Fix this on the 
Mounting Surface

(4) 5/16” (8 mm) 
Bolts

Bolts into Keyholes Slots First

(2) 5/16" 
(8 mm) 
Bolts



2 of 5 LPN00630X0002A0_B

4

TRUNNION WITH BUTTON 
PHOTOCELL- REQUIRES USE OF 
NTX-TR-PK ACCESSORY AND BUTTON 
PHOTOCELL (ORDERED SEPARATELY)

STEP 1:
Plug the female end of the quick connect, 
supplied with the trunnion, into the male 
connector on the luminaire. Make sure the 
two halves lock together. See Figure 1.

STEP 2:
Align the four holes in the front half of the 
trunnion with the four tapped holes in the 
luminaire housing. Attach the trunnion to the 
luminaire using the (4) 5/16” (8 mm) bolts and 
lockwashers supplied with the trunnion kit. 
Tighten bolts to 132 in-lbs (15 N·m). See  
Figure 4.

STEP 3:
Remove wiring compartment cover on 
trunnion by loosening (2) screws. See Figure 
4.

STEP 4:
Remove the center knockout from the cover 
by striking knockout with a hammer and 
punch.

STEP 5:
Remove the nut from the threaded nipple of 
the photocell and insert the threaded nipple 
of the photocell through the hole in the cover. 
The body of the photocell and the o-ring on 
the threaded nipple should remain on the 
inside surface of the cover.

STEP 6:
Tighten the nut onto the exposed end of the 
threaded nipple to secure the photocell to the 
cover.

STEP 7:
Wire the photocell by following the wiring 
instructions included with the photocell.

STEP 8:
Reattach the wiring compartment cover that 
was removed in Step 3. Tighten the screws to 
30 in-lbs (3.5 N·m).
NOTE: Make sure no wires are pinched.

STEP 9:
Mount the luminaire in the desired location 

using (2) 3/8” (10 mm) bolts (customer 
supplied) appropriate for the mounting 
surface. See Figure 3.

STEP 10:
Make wiring connections to the cord leads 
per the Electrical Connections section.

STEP 11:
Remove #10-24 positioning screws on both 
sides of the trunnion.

STEP 12:
Loosen 5/16" (8 mm) hex head bolts located 
on both sides of the trunnion.

STEP 13:
Rotate trunnion to desired tilt angle. Line up 
inner and outer trunnion positioning holes.

STEP 14:
Insert one #10-24 screw, removed in Step 
11, into matching holes of inner and outer 
trunnions. Tighten screw to 30 in-lbs (35 
N·m). Repeat with screw on opposite side of 
trunnion.

STEP 15:
Tighten both 5/16” hex head bolts on opposite 
sides of the trunnion to 132 in-lbs (15 N·m).

TRUNNION WITH TWIST-LOCK 
PHOTOCELL RECEPTACLE- REQUIRES 
USE OF NTX-TR-3R ACCESSORY AND 
TWIST-LOCK PHOTOCELL (ORDERED 
SEPARATELY)

NOTE: Flood lights are not to be used as 
uplights when mounted on Trunnion with 
Twist-Lock Photocell.

STEP 1:
Plug the female end of the quick connect, 
supplied with the trunnion, into the male 
connector on the luminaire. Make sure the 
two halves lock together. See Figure 1.

STEP 2:
Position luminaire to be assembled to 
trunnion optic side down with mounting holes 
facing towards you.
IMPORTANT: Trunnion with Twist Lock 
Photocell must be oriented with twist lock 
receptacle on the right side of the trunnion as 
viewed from behind luminaire.

STEP 3:
Align the four holes in the inner trunnion 
with the four tapped holes in the luminaire 
housing. Attach the trunnion to the luminaire 
using the (4) 5/16” (8 mm) bolts and 
lockwashers supplied with the trunnion kit. 
Tighten bolts to 132 in-lbs (15 N·m). See 
Figure 5.

STEP 4:
Mount the luminaire in the desired location 
using (2) 3/8” (10 mm) bolts (customer 
supplied) appropriate for the mounting 
surface. See Figure 3.

STEP 5:
Make wiring connections to the cord leads 
per the Electrical Connections section.

STEP 6:
Remove #10-24 positioning screws on both 
sides of the trunnion.

STEP 7:
Loosen 5/16" (8 mm) hex head bolts located 
on both sides of the trunnion.

STEP 8:
Rotate trunnion to desired tilt angle. Line up 
inner and outer trunnion positioning holes.

STEP 9:
Insert #10-24 screw, removed in Step 6, into 
matching holes of inner and outer trunnion. 
Tighten screw to 30 in-lbs (35 N·m). Repeat 
with screw on opposite side of trunnion.

STEP 10:
Tighten both 5/16” hex head bolts on opposite 
sides of the trunnion to 132 in-lbs (15 N·m).

STEP 11:
Twist lock receptacle must be positioned 
to orient photocell between +/- 45° from 
vertical. See Figure 6. If the receptacle needs 
to be repositioned to orient photocell in this 
tilt range, remove the screws holding the 
receptacle mounting bracket to the trunnion 
(See Figure 5), and reposition mounting 
bracket to properly orient receptacle. 
Retighten screws to 30 in-lbs (3.5 N·m) after 
repositioning bracket.

STEP 12:
Install twist lock photocell or shortening cap 
(ordered separately).

5

Wiring 
Compartment 
Cover

(2) Screws

Button Photocell
(Ordered Separately)

Mounting Bracket 
of the Trunnion

Front Half of Mounting 
Arm. Fix this to the 
Luminaire Head

For Wall Mounting, 
Keep the Keyholes 
Facing Upwards During 
Installation

Mounting Arm Fix this 
to the Luminaire Head 
using (4) Bolts

Rear Trunnion 
Bracket. Fix this 
to the Mounting 
Surface

(2) Adjustment 
Screws for Twist 
Lock Receptacle 
(One Each Side of 
Twist Lock)

Twist Lock 
Photocell 
Receptacle

For Wall Mounting,
Keep the Keyholes 
Facing Upwards During 
Installation

#10-24 Screws 
to Adjust the 
Orientation

(2) 5/16" 
(8 mm) 
Bolts

#10-24 Screws 
to Adjust the 
Orientation

(2) 5/16" 
(8 mm) 
Bolts



3 of 5 LPN00630X0002A0_B

ADJUSTABLE ARM MOUNT- REQUIRES 
USE OF NTX-AA ACCESSORY

STEP 1:
Plug the female end of the quick connect, 
supplied with the trunnion, into the male 
connector on the luminaire. Make sure the two 
halves lock together. See Figure 1.

STEP 2:
Align the four holes in the upper adjustable 
arm with the four tapped holes in the luminaire 
housing. Attach the adjustable arm to the 
luminaire using the (4) 5/16” (8 mm) bolts and 
lockwashers supplied with the adjustable arm 
kit. Tighten bolts to 132 in-lbs (15 N·m). See 
Figure 7.

STEP 3:
Remove wiring compartment cover on 
adjustable arm by loosening (2) screws. See  
Figure 7.

STEP 4:
Feed supply leads up through the tenon that 
the luminaire will be mounted on.

STEP 5:
Route supply leads through open end of the 
adjustable arm and into wiring compartment.
NOTE: It may be necessary to disassemble 
the upper and lower portions of the adjustable 
arm in order to run the leads into the wiring 
compartment. If disassembly is necessary, 
remove the 3/8" (10 mm) bolt and lockwasher 
inside the wiring compartment and route leads 
into wiring compartment. See  
Figure 7. Reassemble upper and lower arm 
halves and replace 3/8" bolt and lockwasher. 
Do not tighten bolt at this time.

STEP 6:
Strain relief is required for electrical 
connections on slip fitter mounts at heights of 
25' (7.6 m) and above. Tie a knot in the supply 
leads above the hole where the leads enter 
the wiring chamber to reduce the strain on 

the connections. Make sure knot will not slip 
through opening in wiring compartment.

STEP 7:
Slip lower adjustable arm over 2 -3/8" (60 mm) 
O.D. heavy wall pipe or tenon making sure not 
to pinch any leads. Aim the luminaire in the 
proper direction and hand tighten all four Allen 
head set screws against outer wall of tenon. 
Hand tighten (4) screws against tenon. Once all 
four screws are hand tightened, secure them 
by tightening to 140 in-lbs (16 N·m).

STEP 8:
If 3/8" bolt holding the two halves of the 
adjustable arm together was not loosened in 
Step 5, loosen the bolt (DO NOT remove it) at 
this time.

STEP 9:
Tilt the luminaire to the desired angle and 
tighten the 3/8" (10 mm) bolt to 19 ft-lbs (25 
N·m) to lock the adjustable arm in place.

STEP 10:
Make the wiring connections inside the wiring 
compartment per the Electrical Connections 
section.

STEP 11:
Replace the wiring compartment cover that 
was removed in Step 3. Tighten screws to 30 
in-lbs (3.5 N·m).

ADJUSTABLE ARM MOUNT WITH 
BUTTON PHOTOCELL- REQUIRES USE 
OF NTX-AA ACCESSORY AND BUTTON 
PHOTOCELL (ORDERED SEPARATELY)

STEP 1:
Plug the female end of the quick connect, 
supplied with the trunnion, into the male 
connector on the luminaire. Make sure the two 
halves lock together. See Figure 1.

STEP 2:
Align the four holes in the upper adjustable 

arm with the four tapped holes in the luminaire 
housing. Attach the adjustable arm to the 
luminaire using the (4) 5/16” (8 mm) bolts and 
lockwashers supplied with the adjustable arm 
kit. Tighten bolts to 132 in-lbs (15 N·m). See 
Figure 7.

STEP 3:
Remove wiring compartment cover on adjustab 
le arm by removing (2) screws. See Figure 7.

STEP 4:
Feed supply leads up through the tenon that 
the luminaire will be mounted on.

STEP 5:
Route supply leads through open end of the 
adjustable arm and into wiring compartment.
NOTE: It may be necessary to disassemble 
the upper and lower portions of the adjustable 
arm in order to run the leads into the wiring 
compartment. If disassembly is necessary, 
remove the 3/8” (10 mm) bolt and lockwasher 
inside the wiring compartment and route leads 
into wiring compartment. See  
Figure 7. Reassemble upper and lower arm 
halves and replace 3/8” bolt and lockwasher. 
Do not tighten bolt at this time.

STEP 6:
Strain relief is required for electrical 
connections on slip fitter mounts at heights of 
25’ (7.6 m) and above. Tie a knot in the supply 
leads above the hole where the leads enter 
the wiring chamber to reduce the strain on 
the connections. Make sure knot will not slip 
through opening in wiring compartment.

STEP 7:
Slip lower adjustable arm over 2 -3/8” (60 mm) 
O.D. heavy wall pipe or tenon making sure 
not to pinch any leads. Aim the luminaire in 
the proper direction and hand tighten all four 
Allen head set screws against outer wall of 
tenon. Once all four screws are hand tightened, 
secure them by tightening them to 140 in-lbs 
(16 N·m).

6

 

 

 

 

 

7
Allowable 

Photocell Tilt 
Angle Rang

-45°
From 

Vertical

45°
From 

Vertical
Wiring 
Compartment 
Cover Plate

(2) Screws

Remove the Bolt at 
the Center Inside 

the Cover Plate to 
Separate the Two 

Halves

Tighten the Screws 
Here to Fix the 
Adjustable Arm on 
the Pole

Lower Half of the 
Arm to be Fixed on 
the Mounting Pole

Upper Arm to be 
Fixed on to the 
Luminaire Head 
using (4) bolts

Supply Leads

Button Photocell 
(Ordered Separately)



4 of 5 LPN00630X0002A0_B

 

 

8

ADJUSTABLE ARM MOUNT WITH TWIST-LOCK PHOTOCELL RECEPTACLE - REQUIRES USE OF NTX-AA-3R ACCESSORY AND TWIST-
LOCK PHOTOCELL (ORDERED SEPARATELY)

NOTE: Floodlights are not to be used as 
uplights when mounted on slipfitter with 
NEMA twist lock photocell.

STEP 1:
Plug the female end of the quick connect, 
supplied with the trunnion, into the male 
connector on the luminaire. Make sure the two 
halves lock together. See Figure 1.

STEP 2:
Position luminaire to be assembled to 
adjustable arm face down with mounting holes 
facing towards you.
IMPORTANT: Adjustable arm with Twist Lock 
Photocell must be mounted with twist lock 
receptacle on the right side of the adjustable 
arm as viewed from behind luminaire.

STEP 3:
Align the four holes in the upper adjustable 
arm with the four tapped holes in the 
luminaire housing. Attach the adjustable 
arm to the luminaire using the (4) 5/16” (8 
mm) bolts and lockwashers supplied with the 
adjustable arm kit. Tighten bolts to 132 in-lbs 
(15 N·m). See Figure 8.

STEP 4:
Remove wiring compartment cover on 
adjustable arm by removing (2) screws. See 
Figure 8.

STEP 5:
Feed supply leads up through the tenon that 
the luminaire will be mounted on.

STEP 6:
Route supply leads through open end of the 
adjustable arm and into wiring compartment.
NOTE: It may be necessary to disassemble 
the upper and lower portions of the adjustable 
arm in order to run the leads into the wiring 
compartment. If disassembly is necessary, 
remove the 3/8” (10 mm) bolt and lockwasher 
inside the wiring compartment and route 
leads into wiring compartment. See Figure 
8. Reassemble upper and lower arm halves 
and replace 3/8” bolt and lockwasher. Do not 
tighten bolt at this time.

STEP 7:
Strain relief is required for electrical 
connections on slip fitter mounts at heights of 
25’ (7.6 m) and above. Tie a knot in the supply 
leads above the hole where the leads enter 
the wiring chamber to reduce the strain on 
the connections. Make sure knot will not slip 
through opening in wiring compartment.

STEP 8:
Slip lower adjustable arm over 2 -3/8” (60 mm) 
O.D. heavy wall pipe or tenon making sure 
not to pinch any leads. Aim the luminaire 
in the proper direction and hand tighten all 
four Allen head set screws against outer 
wall of tenon. Once all four screws are hand 
tightened, secure them by tightening them to 
140 in-lbs (16 N·m).

STEP 9:
If 3/8” bolt holding the two halves of the 
adjustable arm together was not loosened in 

Step 6, loosen the bolt (DO NOT remove it) at 
this time.

STEP 10:
Tilt the luminaire to the desired angle and 
tighten the 3/8” (10 mm) bolt to 19 ft-lbs  
(25 N·m) to lock the adjustable arm in place.

STEP 11:
Make the wiring connections inside the wiring 
compartment per the Electrical Connections 
section.

STEP 12:
Replace the wiring compartment cover that 
was removed in Step 4. Tighten screws to 30 
in-lbs (3.5 N·m).
NOTE: Twist lock receptacle must be 
positioned to orient photocell between 
 +/- 45° from vertical. See Figure 6. Make 
sure photocell will be properly oriented when 
replacing cover.

STEP 13:
Install twist lock photocell or shortening cap 
(ordered separately).

STEP 8:
If 3/8” bolt holding the two halves of the adjustable arm together 
was not loosened in Step 5, loosen the bolt (DO NOT remove it) at 
this time.

STEP 9:
Tilt the luminaire to the desired angle and tighten the 3/8” (10 
mm) bolt to 19 ft-lbs (25 N·m) to lock the adjustable arm in place.

STEP 10:
Remove the center knockout form the wiring compartment cover 
by striking knockout with a punch and hammer.

STEP 11:
Remove the nut from the threaded nipple of the photocell and 
insert the threaded nipple of the photocell through the hole in the 
cover. The body of the photocell and the o-ring on the threaded 
nipple should remain on the inside surface of the cover.

STEP 12:
Tighten the nut onto the exposed end of the threaded nipple to 
secure the photocell to the cover.

STEP 13:
Wire the photocell by following the wiring instructions included 
with the photocell.

STEP 14:
Connect supply ground lead to luminaire ground lead.

STEP 15:
Replace the wiring compartment cover that was removed in Step 
3. Tighten screws to 30 in-lbs (3.5 N·m).

Remove the Bolt at 
the Center Inside 

the Cover Plate to 
Separate the Two 

Halves

(2) Screws for 
Removal of Wiring 
Compartment 
Cover

Tighten the Screws 
Here to Fix the 
Adjustable Arm on 
the Pole

Lower Half of the 
Arm to be Fixed on 
the Mounting Pole

Upper Arm to be 
Fixed on to the 
Luminaire Head 
using (4) bolts

Twist Lock 
Photocell 
Receptacle

Supply Leads



5 of 5 LPN00630X0002A0_B

www.creelighting.com 

© 2019 Cree Lighting, A company of IDEAL INDUSTRIES. All rights reserved. For informational purposes only. Content 
is subject to change. See www.creelighting.com/warranty for warranty and specifications. Cree® and the Cree logo are 
registered trademarks of Cree, Inc.   

FCC

CAUTION: Changes or modifications not expressly approved could void your authority to use this equipment. 

This device complies with part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) This device may not cause harmful 
interference, and (2) this device must accept any interference received, including interference that may cause undesired operation.

This equipment has been tested and found to comply with the limits for a Class A digital device, pursuant to part 15 of the FCC Rules. These limits are 
designed to provide reasonable protection against harmful interference when the equipment is operated in a commercial environment. This equipment 
generates, uses, and can radiate radio frequency energy and, if not installed and used in accordance with the instruction manual, may cause harmful 
interference to radio communications. Operation of this equipment in a residential area is likely to cause harmful interference in which case the user will 
be required to correct the interference at his own expense.
CAN ICES-005 (A)/NMB-005 (A)

ELECTRICAL CONNECTIONS

STEP 1:
Make the following Electrical Connections to supply cord:

a.	 For 120/277/347V connect the black fixture lead to the 
voltage supply or Hot 1 (for 208/240/480V wiring).

b.	 For 120/277/347V connect the white fixture lead to the 
neutral supply or Hot 2 (for 208/240/480V wiring).

c.	 Connect the luminaire ground (green or green/yellow) 
lead to the supply ground lead.

d.	 If Dimming is an option; connect the violet dimming 
positive lead to the supply dimming positive lead. Cap off 
violet lead if dimming is not used.

e.	 If Dimming is an option; connect the grey dimming 
negative lead to the supply dimming negative lead. Cap off 
grey lead if dimming is not used.

f.	 NOTE: For dimming connections, use Class 1 wiring 
methods only.

   LINE
OR HOT 1

GREEN

LINE-BLACK

GROUND-GREEN

NEUTRAL-WHITE

DIM (-) GREY

DIM (+) VIOLET

NEUTRAL
OR HOT 2

VIOLET

GREY

S
U

P
P

LY
 W

IR
IN

G

(D
IM

M
IN

G
 O

P
T

IO
N

A
L

)

LUMINAIRE



Série Noctura
Projecteurs à DEL

Grand Projecteur 

1 sur 5 LPN00630X0002A0_B

INSTRUCTIONS D’INSTALLATION
INSTALLATION INSTRUCTIONS

POUR INSTALLER :

MESURES DE SÉCURITÉ IMPORTANTES
Lorsque vous utilisez un équipement électrique, vous devez toujours respecter les règles de sécurité élémentaires, notamment les suivantes :

LISEZ ET SUIVEZ TOUTES LES CONSIGNES DE SÉCURITÉ
1. DANGER – Risque de choc – Couper l’alimentation avant l’installation.

DANGER – Risk of shock- Disconnect power before installation.
2. Ce produit doit être installé conformément à NEC ou votre code électrique local. Si vous n’êtes pas familier avec ces codes et ces 

exigences, veuillez contacter un électricien qualifi é. 
This luminaire must be installed in accordance with the NEC or your local electrical code. If you are not familiar with these codes 
and requirements, consult a qualifi ed electrician. 

3. Convient aux emplacements mouillés.
Suitable for wet locations.

4. Peut être utilisé à une température ambiante n’excédant pas 40 °C. 
Suitable for operation in ambient not exceeding 40°C.

5. Peut être installé à moins de 1,2 m (4 pi) du sol. 
Suitable for mounting within 1.2M (4ft) of the ground.

6. Les fi ls d’alimentation 75 °C min. 
Min. 75°C supply conductors.

7. Câblage de classe 1 uniquement. 
Class 1 wiring only.

VEUILLEZ GARDER CES INSTRUCTIONS POUR RÉFÉRENCE ULTÉRIEURE

1

MONTAGE DU TOURILLON – NÉCESSITE L’ACCESSOIRE NTX-TR

ÉTAPE 1 :
Branchez l'extrémité femelle du raccord rapide, 
fourni avec le tourillon, dans le connecteur mâle 
du luminaire. Assurez-vous que les deux moitiés 
se verrouillent ensemble. Voir Figure 1.

ÉTAPE 2 :
Alignez les quatre trous du tourillon interne 
avec les quatre trous taraudés du boîtier du 
luminaire. Fixez le tourillon au luminaire à 
l'aide des quatre (4) boulons de 8 mm (5/16 po) 
et des rondelles de blocage fournis avec 
l'ensemble du tourillon. Serrez les boulons à 
15 Nm (132 po-lb). Voir Figure 2.

ÉTAPE 3 :
Montez le luminaire à l'endroit désiré à l'aide de 
(2) boulons de 10 mm (3/8 po) (fournis par le client) 
adaptés à la surface de montage. Voir Figure 3.

ÉTAPE 4 :
Effectuez les branchements de câblage aux 
fils du cordon conformément à la section 
Branchements électriques.

ÉTAPE 5 :
Retirez les vis de réglage n° 10-24 des deux 
côtés du tourillon.

ÉTAPE 6 :
Desserrez les boulons à tête hexagonale de 8 mm 
(5/16 po) situés des deux côtés du tourillon.

ÉTAPE 7 :
Pivotez le tourillon à l'angle d'inclinaison 
désiré. Alignez les trous de réglage du tourillon 
interne et externe.

ÉTAPE 8 :

Insérez une vis n° 10-24, retirée à l'étape 5, dans 
les trous correspondants du tourillon interne et 
externe. Serrez la vis à 35 Nm (30 po-lb). Répétez 
l'opération avec la vis sur le côté opposé de 
l'articulation.

ÉTAPE 9 :
Serrez les 2 boulons à tête hexagonale de 8 mm 
(5/16 po) des deux côtés opposés du tourillon à 
15 Nm (132 po-lb).

       
       
       
       
       
       
       

2 3

Extrémité femelle 
du connecteur

Extrémité mâle 
du connecteur

Tourillon 
interne

Vis 10-24 pour 
régler l'orientation

Pour montage 
mural, Gardez les 
trous de serrure 
orientés vers le 
haut pendant 
l'installation.

Tourillon externe 
Fixez ceci sur la 
surface de montage

(4) boulons de 
8 mm (5/16 po)

Boulons dans fentes des trous de serrure d’abord

(2) boulons 
de 13 mm 
(5/10 po)



Série Noctura
Projecteurs à DEL

Grand Projecteur 

1 sur 5 LPN00630X0002A0_B

INSTRUCTIONS D’INSTALLATION
INSTALLATION INSTRUCTIONS

POUR INSTALLER :

MESURES DE SÉCURITÉ IMPORTANTES
Lorsque vous utilisez un équipement électrique, vous devez toujours respecter les règles de sécurité élémentaires, notamment les suivantes :

LISEZ ET SUIVEZ TOUTES LES CONSIGNES DE SÉCURITÉ
1. DANGER – Risque de choc – Couper l’alimentation avant l’installation.

DANGER – Risk of shock- Disconnect power before installation.
2. Ce produit doit être installé conformément à NEC ou votre code électrique local. Si vous n’êtes pas familier avec ces codes et ces 

exigences, veuillez contacter un électricien qualifi é. 
This luminaire must be installed in accordance with the NEC or your local electrical code. If you are not familiar with these codes 
and requirements, consult a qualifi ed electrician. 

3. Convient aux emplacements mouillés.
Suitable for wet locations.

4. Peut être utilisé à une température ambiante n’excédant pas 40 °C. 
Suitable for operation in ambient not exceeding 40°C.

5. Peut être installé à moins de 1,2 m (4 pi) du sol. 
Suitable for mounting within 1.2M (4ft) of the ground.

6. Les fi ls d’alimentation 75 °C min. 
Min. 75°C supply conductors.

7. Câblage de classe 1 uniquement. 
Class 1 wiring only.

VEUILLEZ GARDER CES INSTRUCTIONS POUR RÉFÉRENCE ULTÉRIEURE

1

MONTAGE DU TOURILLON – NÉCESSITE L’ACCESSOIRE NTX-TR

ÉTAPE 1 :
Branchez l'extrémité femelle du raccord rapide, 
fourni avec le tourillon, dans le connecteur mâle 
du luminaire. Assurez-vous que les deux moitiés 
se verrouillent ensemble. Voir Figure 1.

ÉTAPE 2 :
Alignez les quatre trous du tourillon interne 
avec les quatre trous taraudés du boîtier du 
luminaire. Fixez le tourillon au luminaire à 
l'aide des quatre (4) boulons de 8 mm (5/16 po) 
et des rondelles de blocage fournis avec 
l'ensemble du tourillon. Serrez les boulons à 
15 Nm (132 po-lb). Voir Figure 2.

ÉTAPE 3 :
Montez le luminaire à l'endroit désiré à l'aide de 
(2) boulons de 10 mm (3/8 po) (fournis par le client) 
adaptés à la surface de montage. Voir Figure 3.

ÉTAPE 4 :
Effectuez les branchements de câblage aux 
fils du cordon conformément à la section 
Branchements électriques.

ÉTAPE 5 :
Retirez les vis de réglage n° 10-24 des deux 
côtés du tourillon.

ÉTAPE 6 :
Desserrez les boulons à tête hexagonale de 8 mm 
(5/16 po) situés des deux côtés du tourillon.

ÉTAPE 7 :
Pivotez le tourillon à l'angle d'inclinaison 
désiré. Alignez les trous de réglage du tourillon 
interne et externe.

ÉTAPE 8 :

Insérez une vis n° 10-24, retirée à l'étape 5, dans 
les trous correspondants du tourillon interne et 
externe. Serrez la vis à 35 Nm (30 po-lb). Répétez 
l'opération avec la vis sur le côté opposé de 
l'articulation.

ÉTAPE 9 :
Serrez les 2 boulons à tête hexagonale de 8 mm 
(5/16 po) des deux côtés opposés du tourillon à 
15 Nm (132 po-lb).

       
       
       
       
       
       
       

2 3

Extrémité femelle 
du connecteur

Extrémité mâle 
du connecteur

Tourillon 
interne

Vis 10-24 pour 
régler l'orientation

Pour montage 
mural, Gardez les 
trous de serrure 
orientés vers le 
haut pendant 
l'installation.

Tourillon externe 
Fixez ceci sur la 
surface de montage

(4) boulons de 
8 mm (5/16 po)

Boulons dans fentes des trous de serrure d’abord

(2) boulons 
de 13 mm 
(5/10 po)

2 sur 5 LPN00630X0002A0_B

4

TOURILLON AVEC PHOTOCELLULE À 
BOUTON - NÉCESSITE L’ACCESSOIRE 
NTX-TR-PK (COMMANDÉ SÉPARÉMENT) 

ÉTAPE 1 :
Branchez l'extrémité femelle du raccord rapide, 
fourni avec le tourillon, dans le connecteur mâle 
du luminaire. Assurez-vous que les deux moitiés 
se verrouillent ensemble. Voir Figure 1.

ÉTAPE 2 :
Alignez les quatre trous du tourillon avec les 
quatre trous taraudés du boîtier du luminaire. 
Fixez le tourillon au luminaire à l'aide des quatre 
(4) boulons de 8 mm (5/16 po) et des rondelles 
de blocage fournis avec l'ensemble du tourillon. 
Serrez les boulons à 15 Nm (132 po-lb). Voir 
Figure 4.

ÉTAPE 3 :
Retirez le couvercle du compartiment des fils 
sur le tourillon en desserrant les (2) vis. Voir 
Figure 4.

ÉTAPE 4 :
Retirez la débouchure centrale du couvercle en 
la frappant à l'aide d'un marteau et d'un poinçon.

ÉTAPE 5 :
Retirez l’écrou du raccord fileté de la cellule 
photoélectrique et insérez le raccord fileté de 
la photocellule à travers le trou du couvercle. 
Le corps de la photocellule et le joint torique du 
raccord fileté doivent restés sur la paroi interne 
du couvercle.

ÉTAPE 6 :
Serrez l'écrou sur l'extrémité exposée du 
raccord fileté pour fixer la photocellule au 
couvercle.

ÉTAPE 7 :
Branchez la photocellule en suivant les instructions 
de branchement fournies avec la photocellule.

ÉTAPE 8 :
Replacez le couvercle du compartiment des fils 
retiré à l'étape 3. Serrez les vis à 3,5 Nm (30 po-lb).
REMARQUE : Assurez-vous que les fils ne sont 
pas pincés.

ÉTAPE 9 :
Montez le luminaire à l'endroit désiré à l'aide 
de (2) boulons de 10 mm (3/8 po) (fournis par 
le client) adaptés à la surface de montage. Voir 
Figure 3.

ÉTAPE 10 :
Effectuez les branchements de câblage aux 
fils du cordon conformément à la section 
Branchements électriques.

ÉTAPE 11 :
Retirez les vis de réglage n° 10-24 des deux 
côtés du tourillon.

ÉTAPE 12 :
Desserrez les boulons à tête hexagonale 
de 8 mm (5/16 po) situés des deux côtés du 
tourillon.

Étape 13.
Pivotez le tourillon à l'angle d'inclinaison désiré. 
Alignez les trous de réglage du tourillon interne 
et externe.

ÉTAPE 14 :
Insérez une vis n° 10-24, retirée à l'étape 11, dans 
les trous correspondants du tourillon interne et 
externe. Serrez la vis à 35 Nm (30 po-lb). Répétez 
l'opération avec la vis sur le côté opposé de 
l'articulation.

ÉTAPE 15 :
Serrez les 2 boulons à tête hexagonale de 8 mm 
(5/16 po) des deux côtés opposés du tourillon à 
15 Nm (132 po-lb).

TOURILLON AVEC PHOTOCELLULE 
À VERROU TOURNANT - NÉCESSITE 
L’ACCESSOIRE NTX-TR-3R ET UNE 
PHOTOCELLULE À VERROU TOURNANT 
(COMMANDÉ SÉPARÉMENT)

REMARQUE : Les projecteurs d’illumination 
ne doivent pas être utilisés comme luminaires 
à éclairage dirigé vers le haut lorsqu’ils sont 
montés sur tourillon avec photocellule à verrou 
tournant.

ÉTAPE 1 :
Branchez l'extrémité femelle du raccord rapide, 
fourni avec le tourillon, dans le connecteur 
mâle du luminaire. Assurez-vous que les deux 
moitiés se verrouillent ensemble. Voir Figure 1.

ÉTAPE 2 :
Positionnez le luminaire à assembler au 
tourillon avec le côté optique vers le bas et les 
trous de montage orientés vers vous.
IMPORTANT : Le tourillon avec la photocellule 
à verrou tournant doit être orienté avec le 
réceptacle du verrou tournant sur le côté droit 
du tourillon, vu de derrière le luminaire.

ÉTAPE 3 :
Alignez les quatre trous du tourillon interne 
avec les quatre trous taraudés du boîtier du 
luminaire. Fixez le tourillon au luminaire à 
l'aide des quatre (4) boulons de 8 mm (5/16 po) 
et des rondelles de blocage fournis avec 

l'ensemble du tourillon. Serrez les boulons à 
15 Nm (132 po-lb). Voir Figure 5.

ÉTAPE 4 :
Montez le luminaire à l'endroit désiré à l'aide 
de (2) boulons de 10 mm (3/8 po) (fournis par 
le client) adaptés à la surface de montage. 
Voir Figure 3.

ÉTAPE 5 :
Effectuez les branchements de câblage aux 
fils du cordon conformément à la section 
Branchements électriques.

ÉTAPE 6 :
Retirez les vis de réglage n° 10-24 des deux 
côtés du tourillon.

ÉTAPE 7 :
Desserrez les boulons à tête hexagonale 
de 8 mm (5/16 po) situés des deux côtés du 
tourillon.

ÉTAPE 8 :
Pivotez le tourillon à l'angle d'inclinaison 
désiré. Alignez les trous de réglage du tourillon 
interne et externe.

ÉTAPE 9 :
Insérez une vis n° 10-24, retirée à l'étape 6, 
dans les trous correspondants du tourillon 
interne et externe. Serrez la vis à 35 Nm (30 po-
lb). Répétez l'opération avec la vis sur le côté 
opposé de l'articulation.

ÉTAPE 10 :
Serrez les 2 boulons à tête hexagonale de 8 mm 
(5/16 po) des deux côtés opposés du tourillon à 
15 Nm (132 po-lb).

ÉTAPE 11 :
Le réceptacle du verrou tournant doit être 
positionné pour que la photocellule soit inclinée 
entre +/- 45° de la verticale. Voir Figure 6. Si le 
réceptacle doit être repositionné pour orienter 
la photocellule dans cette plage d'inclinaison, 
retirez les vis maintenant le support de montage 
du réceptacle sur le tourillon (voir Figure 5), 
puis repositionnez le support de montage pour 
orienter correctement le réceptacle. Resserrez 
les vis à 3,5 Nm (30 po-lb) après avoir remis en 
place la crosse.

ÉTAPE 12 :
Installez la photocellule à verrou tournant.

5

Couvercle du 
compartiment 
de câblage

(2) vis

Photocellule à bouton
(commandé séparément)

Crosse de fixation 
du tourillon

Moitié avant du montage 
du bras Fixez ceci à la 
tête du luminaire

Pour montage mural, 
gardez les trous de serrure 
orientés vers le haut 
pendant l'installation.

Montage du bras Fixez 
ceci à la tête du luminaire 
avec (4) boulons

Crosse arrière du 
tourillon Fixez ceci à la 
surface de montage

(2) Vis de réglage 
pour le réceptacle 
à verrou tournant 
(un de chaque 
côté du verrou 
tournant)

Réceptacle de la 
photocellule à 
verrou tournant

Pour montage mural, 
gardez les trous de serrure 
orientés vers le haut 
pendant l'installation.

Vis no 10-24 
pour régler 
l'orientation

(2) boulons 
de 8 mm 
(5/16 po)

Vis no 10-24 
pour régler 
l'orientation

(2) boulons 
de 8 mm 
(5/16 po)



3 sur 5 LPN00630X0002A0_B

MONTAGE DU BRAS RÉGLABLE – 
NÉCESSITE L’ACCESSOIRE NTX-AA

ÉTAPE 1 :
Branchez l'extrémité femelle du raccord rapide, 
fourni avec le tourillon, dans le connecteur 
mâle du luminaire. Assurez-vous que les deux 
moitiés se verrouillent ensemble. Voir Figure 1.

ÉTAPE 2 :
Alignez les quatre trous situés sur la partie 
supérieure du bras réglable avec les quatre 
trous taraudés du boîtier du luminaire. Fixez le 
bras réglable au luminaire à l'aide des quatre 
(4) boulons de 8 mm (5/16 po) et des rondelles 
de blocage fournis avec l'ensemble du bras 
réglable. Serrez les boulons à 15 Nm (132 po-lb). 
Voyez la Figure 7.

ÉTAPE 3 :
Retirez le couvercle du compartiment des fils 
sur le bras réglable en desserrant les (2) vis. 
Voyez la Figure 7.

ÉTAPE 4 :
Faites passer les fils d'alimentation vers le haut 
par le tenon sur lequel le luminaire sera monté.

ÉTAPE 5 :
Acheminez les câbles d'alimentation par 
l'extrémité ouverte du bras réglable et dans le 
compartiment des fils.
REMARQUE : Il peut être nécessaire de 
démonter les parties supérieure et inférieure 
du bras réglable afin de faire passer les fils 
dans le compartiment des fils. Si un démontage 
est nécessaire, retirez le boulon de 10 mm 
(3/8 po) et la rondelle de blocage à l'intérieur 
du compartiment des fils et acheminez les fils 
dans le compartiment des fils. Voir Figure 7. 
Réassemblez les moitiés supérieure et 
inférieure du bras et replacez le boulon de 
10 mm (3/8 po) et la rondelle frein. Ne serrez 
pas le boulon à cette étape.

ÉTAPE 6 :
Une réduction de tension est nécessaire pour 
les connexions électriques sur les montages 
sur glissière à des hauteurs de 7,6 m (25 pi) et 
plus. Faites un nœud aux fils d'alimentation 
au-dessus de l'orifice où les fils pénètrent 
dans la chambre de câblage pour réduire la 

tension sur les connexions. Assurez-vous que 
le nœud ne glisse pas à travers l'ouverture du 
compartiment des fils.

ÉTAPE 7 :
Glissez le bras inférieur réglable par-dessus 
le tuyau ou tenon d’un mur robuste de 60 mm 
(2 -3/8 po) de diamètre extérieur, en veillant 
à ne pas pincer les fils. Orientez le luminaire 
dans la bonne direction et serrez les quatre 
vis à tête hexagonale contre la paroi extérieure 
du tenon. Serrez à la main les (4) vis contre le 
tenon. Une fois les quatre vis serrées à la main, 
serrez les à 16 Nm (140 po-lb).

ÉTAPE 8 :
Si le boulon de 10 mm (3/8 po) maintenant 
les deux moitiés du bras ajustable ensemble 
n'a pas été desserré à l'étape 5, desserrez-le 
(NE PAS le retirer) à cette étape.

ÉTAPE 9 :
Inclinez le luminaire à l'angle désiré et serrez 
le boulon de 10 mm (3/8 po) à 25 Nm (19 pi-lb) 
pour bloquer le bras réglable en place.

ÉTAPE 10 :
Effectuez les branchements de fils à l'intérieur 
du compartiment des fils conformément à la 
section Branchements électriques.

ÉTAPE 11 :
Replacez le couvercle du compartiment des 
fils retiré à l'étape 3. Serrez les vis à 3,5 Nm 
(30 po-lb).

MONTAGE DU BRAS RÉGLABLE AVEC 
PHOTOCELLULE À BOUTON - NÉCESSITE 
L’ACCESSOIRE NTX-AA ET UNE 
PHOTOCELLULE À BOUTON (COMMANDÉ 
SÉPARÉMENT)

ÉTAPE 1 :
Branchez l'extrémité femelle du raccord rapide, 
fourni avec le tourillon, dans le connecteur 
mâle du luminaire. Assurez-vous que les deux 
moitiés se verrouillent ensemble. Voir Figure 1.

ÉTAPE 2 :
Alignez les quatre trous situés sur la partie 
supérieure du bras réglable avec les quatre 
trous taraudés du boîtier du luminaire. Fixez le 

bras réglable au luminaire à l'aide des quatre 
(4) boulons de 8 mm (5/16 po) et des rondelles 
de blocage fournis avec l'ensemble du bras 
réglable. Serrez les boulons à 15 Nm (132 po-lb). 
Voyez la Figure 7.

ÉTAPE 3 :
Retirez le couvercle du compartiment des fils 
sur le bras réglable en retirant les (2) vis. Voyez 
la Figure 7.

ÉTAPE 4 :
Faites passer les fils d'alimentation vers le haut 
par le tenon sur lequel le luminaire sera monté.

ÉTAPE 5 :
Acheminez les câbles d'alimentation par 
l'extrémité ouverte du bras réglable et dans le 
compartiment des fils.
REMARQUE : Il peut être nécessaire de 
démonter les parties supérieure et inférieure 
du bras réglable afin de faire passer les fils 
dans le compartiment des fils. Si un démontage 
est nécessaire, retirez le boulon de 10 mm 
(3/8 po) et la rondelle de blocage à l'intérieur du 
compartiment des fils et acheminez les fils dans le 
compartiment des fils. Voir Figure 7. Réassemblez 
les moitiés supérieure et inférieure du bras et 
replacez le boulon de 10 mm (3/8 po) et la rondelle 
frein. Ne serrez pas le boulon à cette étape.

ÉTAPE 6 :
Une réduction de tension est nécessaire pour 
les connexions électriques sur les montages 
sur glissière à des hauteurs de 7,6 m (25 pi) et 
plus. Faites un nœud aux fils d'alimentation 
au-dessus de l'orifice où les fils pénètrent 
dans la chambre de câblage pour réduire la 
tension sur les connexions. Assurez-vous que 
le nœud ne glisse pas à travers l'ouverture du 
compartiment des fils.

ÉTAPE 7 :
Glissez le bras inférieur réglable par-dessus le 
tuyau ou tenon d’un mur robuste de 60 mm (2 
-3/8 po) de diamètre extérieur, en veillant à ne 
pas pincer les fils. Orientez le luminaire dans 
la bonne direction et serrez les quatre vis à tête 
hexagonale contre la paroi extérieure du tenon. 
Serrez à la main les (4) vis contre le tenon. Une 
fois les quatre vis serrées à la main, serrez les 
à 16 Nm (140 po-lb).

6

 

 

 

 

 

7
Angle d'inclinaison 
toléré de la cellule 

photoélectrique

-45°
Par rapport à 

la verticale

45°
Par rapport à 

la verticale

Plaque du couvercle 
du compartiment 
des fils

(2) vis

Retirez le boulon du centre 
à l'intérieur de la plaque de 
recouvrement pour séparer 

les deux moitiés.

Serrez les vis ici pour 
fixer le bras réglable 
sur le poteau.

Partie inférieure du 
bras à fixer sur le 
poteau de montage

Partie supérieure du 
bras doit être fixée 
sur le luminaire avec 
(4) boulons

Fils d'alimentation

Photocellule à bouton
(commandé séparément)



4 sur 5 LPN00630X0002A0_B

 

 

8

MONTAGE DU BRAS RÉGLABLE AVEC PHOTOCELLULE À VERROU TOURNANT - NÉCESSITE L’ACCESSOIRE NTX-AA-3R ET UNE 
PHOTOCELLULE À VERROU TOURNANT (COMMANDÉ SÉPARÉMENT)

REMARQUE : Les projecteurs d’illumination 
ne doivent pas comme luminaires à éclairage 
dirigé vers le haut lorsqu’ils sont montés sur 
monteur séparable avec photocellule NEMA à 
verrou tournant.

ÉTAPE 1 :
Branchez l'extrémité femelle du raccord 
rapide, fourni avec le tourillon, dans le 
connecteur mâle du luminaire. Assurez-vous 
que les deux moitiés se verrouillent ensemble. 
Voir Figure 1.

ÉTAPE 2 :
Positionnez le luminaire à assembler sur le 
bras réglable avec le côté optique vers le bas et 
les trous de montage orientés vers vous.
IMPORTANT : Le bras réglable avec la 
photocellule à verrou tournant doit être monté 
avec le réceptacle du verrou tournant sur le 
côté droit du bras réglable, vu de derrière le 
luminaire.

ÉTAPE 3 :
Alignez les quatre trous situés sur la partie 
supérieure du bras réglable avec les quatre 
trous taraudés du boîtier du luminaire. Fixez le 
bras réglable au luminaire à l'aide des quatre 
(4) boulons de 8 mm (5/16 po) et des rondelles 
de blocage fournis avec l'ensemble du bras 
réglable. Serrez les boulons à 15 Nm (132 po-
lb). Voir Figure 8.

ÉTAPE 4 :
Retirez le couvercle du compartiment des fils 
sur le bras réglable en retirant les (2) vis. Voir 
Figure 8.

ÉTAPE 5 :
Faites passer les fils d'alimentation vers le haut 
par le tenon sur lequel le luminaire sera monté.

ÉTAPE 6 :
Acheminez les câbles d'alimentation par 

l'extrémité ouverte du bras réglable et dans le 
compartiment des fils.
REMARQUE : Il peut être nécessaire de 
démonter les parties supérieure et inférieure 
du bras réglable afin de faire passer les 
fils dans le compartiment des fils. Si un 
démontage est nécessaire, retirez le boulon 
de 10 mm (3/8 po) et la rondelle de blocage 
à l'intérieur du compartiment des fils et 
acheminez les fils dans le compartiment des 
fils. Voir Figure 8. Réassemblez les moitiés 
supérieure et inférieure du bras et replacez le 
boulon de 10 mm (3/8 po) et la rondelle frein. 
Ne serrez pas le boulon à cette étape.

ÉTAPE 7 :
Une réduction de tension est nécessaire pour 
les connexions électriques sur les montages 
sur glissière à des hauteurs de 7,6 m (25 pi) et 
plus. Faites un nœud aux fils d'alimentation 
au-dessus de l'orifice où les fils pénètrent 
dans la chambre de câblage pour réduire la 
tension sur les connexions. Assurez-vous que 
le nœud ne glisse pas à travers l'ouverture du 
compartiment des fils.

ÉTAPE 8 :
Glissez le bras inférieur réglable par-dessus 
le tuyau ou tenon d’un mur robuste de 60 mm 
(2 -3/8 po) de diamètre extérieur, en veillant 
à ne pas pincer les fils. Orientez le luminaire 
dans la bonne direction et serrez les quatre 
vis à tête hexagonale contre la paroi extérieure 
du tenon. Serrez à la main les (4) vis contre 
le tenon. Une fois les quatre vis serrées à la 
main, serrez les à 16 Nm (140 po-lb).

ÉTAPE 9 :
Si le boulon de 10 mm (3/8 po) maintenant les 
deux moitiés du bras ajustable ensemble n'a 
pas été desserré à l'étape 6, desserrez-le (NE 
PAS le retirer) à cette étape.

ÉTAPE 10 :
Inclinez le luminaire à l'angle désiré et serrez 
le boulon de 10 mm (3/8 po) à 25 Nm (19 pi-lb) 
pour bloquer le bras réglable en place.

ÉTAPE 11 :
Effectuez les branchements de fils à l'intérieur 
du compartiment des fils conformément à la 
section Branchements électriques .

ÉTAPE 12 :
Replacez le couvercle du compartiment des 
fils retiré à l'étape 4. Serrez les vis à 3,5 Nm 
(30 po-lb).
REMARQUE : Le réceptacle du verrou tournant 
doit être positionné pour que la photocellule 
soit inclinée entre +/- 45° de la verticale. Voir 
Figure 6. Assurez-vous que la photocellule est 
correctement orientée quand vous replacez le 
couvercle.

ÉTAPE 13 :
Installez la photocellule à verrou tournant

ÉTAPE 8 :
Si le boulon de 10 mm (3/8 po) maintenant les deux moitiés 
du bras ajustable ensemble n'a pas été desserré à l'étape 5, 
desserrez-le (NE PAS le retirer) à cette étape.

ÉTAPE 9 :
Inclinez le luminaire à l'angle désiré et serrez le boulon 
de 10 mm (3/8 po) à 25 Nm (19 pi-lb) pour bloquer le bras 
réglable en place.

ÉTAPE 10 :
Retirez la débouchure centrale du couvercle du 
compartiment des fils en la frappant à l'aide d'un marteau 
et d'un poinçon.

ÉTAPE 11 :
Retirez l’écrou du raccord fileté de la cellule photoélectrique 
et insérez le raccord fileté de la photocellule à travers le trou 
du couvercle. Le corps de la photocellule et le joint torique du 
raccord fileté doivent restés sur la paroi interne du couvercle.

ÉTAPE 12 :
Serrez l'écrou sur l'extrémité exposée du raccord fileté pour 
fixer la photocellule au couvercle.

ÉTAPE 13 :
Branchez la photocellule en suivant les instructions de 
branchement fournies avec la photocellule.

ÉTAPE 14 :
Branchez le fil de terre d'alimentation au fil de terre du 
luminaire.

ÉTAPE 15 :
Replacez le couvercle du compartiment des fils retiré à 
l'étape 3. Serrez les vis à 3,5 Nm (30 po-lb).

Retirez le boulon du centre 
à l'intérieur de la plaque de 
recouvrement pour séparer 

les deux moitiés.

(2) vis pour retirer 
le couvercle du 
compartiment des fils

Serrez les vis ici pour 
fixer le bras réglable 
sur le poteau.

Partie inférieure du 
bras à fixer sur le 
poteau de montage

Partie supérieure du 
bras doit être fixée 
sur le luminaire 
avec (4) boulons

Réceptacle de la 
photocellule à 
verrou tournant

Fils d'alimentation



5 sur 5 LPN00630X0002A0_B

www.creelighting.com 

© 2019 Cree Lighting, une société d’IDEAL INDUSTRIES. Tous droits réservés. À titre informatif seulement. Le contenu 

est sujet à changement. Allez sur www.creelighting.com/warranty pour obtenir des renseignements sur la garantie et les 

caractéristiques techniques. Cree® et le logo Cree sont des marques déposées de Cree, Inc.  

FCC (FEDERAL COMMUNICATIONS COMMISSION)

MISE EN GARDE : Les changements ou modifications non expressément approuvés peuvent annuler votre droit à utiliser cet équipement. 

Cet appareil est conforme avec la Partie 15 des Règlements de la FCC. L’utilisation est sujette aux deux conditions suivantes : (1) Cet appareil ne 
peut pas causer d’interférences nuisibles, et (2) cet appareil doit accepter toute interférence reçue, y compris les interférences pouvant causer un 
fonctionnement non désiré.

Cet équipement a été testé et déclaré conforme aux limitations pour un appareil numérique de classe A, conformément à la section 15 des règles de la 
FCC. Ces limites sont établies afi n de fournir une protection raisonnable contre les interférences dommageables lorsque l’appareil est utilisé dans un 
environnement commercial. Cet équipement génère, utilise et peut émettre une énergie de fréquence radio et, si non installé et utilisé selon le manuel 
d’instructions, peut causer une interférence nuisible aux communications radio. L’utilisation de cet équipement dans une zone résidentielle va sans doute 
causer une interférence nuisible où il sera requis que l’utilisateur corrige l’interférence à ses propres frais.
CAN ICES-005 (A)/NMB-005 (A)

RACCORDEMENTS ÉLECTRIQUES

ÉTAPE 1 :
Effectuez les connexions électriques suivantes au câble d’alimentation :

a. Pour 120/277/347 V, raccordez le câble noir du luminaire à 
l'alimentation en tension ou Chaud 1 (pour branchement à 
208/240/480 V).

b. Pour 120/277/347 V, raccordez le câble blanc du luminaire 
à l'alimentation neutre ou Chaud 2 (pour branchement à 
208/240/480 V).

c. Raccordez le fil de terre du luminaire (vert ou vert/jaune) 
au fil de terre de l'alimentation.

d. Si la gradation est en option : connectez le fil positif de 
gradation violet au fil positif de gradation d’alimentation. 
Bouchez le fil violet si la gradation n'est pas utilisée.

e. Si la gradation est en option, connectez le fil gris de gradation 
négatif au fil négatif de gradation de l'alimentation. Bouchez 
le fil gris si la gradation n'est pas utilisée.

f. REMARQUE : Pour les connexions avec gradation, utilisez 
uniquement des méthodes de câblage de classe 1.

LIGNE OU 
CHAUD 1

VERT

LINE-BLACK

TERRE-VERT

NEUTRE-BLANC

GRAD. (-) GRIS

GRAD. (+) VIOLET

NEUTRE OU 
CHAUD 2

VIOLET

GRIS

F
IL

S
 D

'A
L

IM
E

N
T

A
T

IO
N

(G
R

A
D

A
T

IO
N

 E
N

 O
P

T
IO

N
)

LUMINAIRE


